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=000 21
/* if 00000000000000 */

#include <stdio.h>

int main()
{

int numl, num?2;
printf("000 20000000000 \n");
printf("000000000000000O00O0\n");

scanf ("%d%d", &numl, &num2); /¥ 000 200000 =/

if (numl == num?2) /¥ 00000 == :Onuml O num2 OOOO0O */
printf("%d O %d OO0OO\n", numl, num2);

if (numl '= num?2) /¥ 00000 !'= :Onuml 0O num2 OOO0O0O0O0O =%/
printf("%d O %d 0O0O0OO0O\n", numl, num2);

if (numl < num?2) /¥ 00000 < : Onuml O num2 OOO0O0O0O x/
printf("/d O %d OOOOOC\n", numl, num2);

if (numl > num?2) /¥ 00000 > : Onuml 0 num2 000000 */
printf("%d O %d OOOOO\n", numl, num2);

if (numl <= num2) /* 00000 <= :Onuml 0O num2 OOOO00O0O */
printf("%d O %d OOOOO\n", numl, num2);

if (numl >= num?2) /¥ 00000 >= :Onuml O num2 OO0O0O0O0O */
printf("%d O %d OO0O0OO\n", numl, num2);

return 0; /x 0000000000000 O0OOOO0O =/
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goooooooooooooooo
10 20

100 20 000O0OOO

100 2000000

100 2000000

goooo 2

oobo200000000o00
goooooooooooooooo
20

10

200 10 0000DOO

200 1000000

200 1000000

goooo 3

oo0 20000000000
goooooooooooooooo
15 15

15 0 156 0000

15 0 156 00000

15 0 156 00000

o if

—0od

if ( condition )

body

gooad (Condition)DDDDDDifDDDD (body)l][ll:]l:l[]l]
00 (body) 00OOO0D0D

—0o000o0ooooooogifoo0ooooooooo0oooooooog
e 00O (indent)

- 0d0obooboboobuoobobooboooboon

—main 000000000000 O00O0O00O0

—if000ooooooooooo

22 OD0OO0OODODOOO

e 000U OOIDODODODLOULOULOOLODUDODODODODLOLODODODODO
e JJODOOD (algorithm) :

1. 00000 (000)00

2.00000000

gooboooo

e 0O OO (control structures)



— 0000 (sequence structure): C 000000 (default) DOO0O
gogbobooobooboboobooboooobg
— 0000 (selection structure): C OO if, if/else, switch O 3 0000
— 0000 (repetition structure): C OO while, do/while, for 0 30000
- 0000000000000 3000000000000* ->0000000000
e J0DDOOD (OO0, flowchart)

—goboobooooboa
- 000000000 (flowline) DOOODOO
—good

+ J00000000000b0OD
—0goo

*x» 000000000 /JOODOOOODOOOO

000000000 (0O)bUoooooOooo

total = grade # & total = total + grade;

counter +2 1 # &4 counter = couter + 1

— 0000 /D0OOO0ODO (single-entry/single-exit) 0000 O
+x» 0000000000000 00O0DO0O00O0DOOD (DhoOooooOD)ooo
+ J0000000000Db0OD

e 0IOOO (pseudo-code)

—0Doobobobobobooooooobobobo

—goooog

—goboobooboboobooboo

- gooooobooooooboboboboboobooooog
+ COO0000000000000o0gog
«+ JO0gooogo

*6 Bohm (00 0) O Jacopini (00000) 000000
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3 Ooooo

31 f0000

e 110DO:
—gbooooooooobobobooobooooon
—goboo
oo 0O0ooogb eo OO0 0O0OO
goboobooo
e 00O O (true) 0O DO
-0oo0oboobobobooooboobooboboon
— 0 (false) 00DOD’00000000O” 000ODOOO
e JIUOUODOO COOOOUOODOOO
if (grade >= 60)
printf ("0 0 \n");
- 000000 cooooooooooooooon
— 000 (indent) 00 0OD0OO0OOCODOOOODOO
+ CO0D00O0O0 (DODODO0ODO0OOD0ODOUOO)0DDOODOO
xif00000000000D00O000O ((f000)000000
- CUoooifi00o000o0oO0O0DUo0oOO0ooUooOOoOoon
* 0000 0: 0
*+ 000D 0000: 0
* O
-300
-i0001000141i-100
e UUIDOODODOUUODL —DLOOODLOODO
—goooooooogooboobo
—bogooobooboobbooboobobg
—[]DD[]%FD[]DDDQ[]DDD[]DDD[]DDD

T&# LAV bt d

e f0000DODO/OODODOD
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